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POLITICAL SCIENCE
( General )
Paper : 6.1
( Public Administration—II )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ware e’ ot sl Tee forar
(a) Who can terminate the service of the
members of the State Public Service
Commission?
T GRCAl SR PP I
PR FRT 41T ?
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(2)

() In which year was the Public Service °
Commission set up in India?

THeIT (FH tAC (ARCEl Wi 6P

e ?

(c) Mention one general principle of
recruitment.
SR B! TR S Tea 740 )

(d) “The Budget is much more than a mere
estimate of revenue and expenditure.”
This was said by

D iR I28 SN W AE LT
3T Q@R oW 17 % FARK (SR
(i) White
K1
(i) Willoughby
TR
(i) Wilson
Tt

( Choose the correct answer )

(@ﬁmm%ﬁw)
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(3)

(e) Under Articles and of the
Constitution of India, the Parliament
can exercise control over public
expenditure.

( Fill in the blanks )

oROR RRYW I TR SRRTS
Fodl IFR SoTS TOTR N oo Tead
IR |

( 2fer SRR 7 1)

() The term ‘promotion’ has been derived
from which Latin word?

@ SR RIS ¥EE R oIS’ BN
Teq (r?

(g) Write one characteristic of Development
Administration.

R P @bt CIRE o |

(h) In which year was the Right to
Information (RTI) Act passed in India?

Wmmwmwﬁmw@ﬁ@
tafe ?
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(4)

()  Accountability is a prerequisite of good
governance. o
( Write True or False )

TRl S A b oS |
(31 ¢t oy foran )

(i) Mention the period of financial year in
India.

e e 9 AT SeEy 490 |

2. Answer the following questions : 2x5=10

@S a1 epcares T o

(a) Mention two types of training.
7R 2T Al e Teey w4 )

(b) What is balanced budget?
“afere et 8 ?

(c) Write two features of Civil Service.

SPINRE G 101 CafEs forn o
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(S)

(d) Mention two evils of Indian
bureaucracy.

SO SIIETSTT o1 WGTRR Srard <41 |

(e) Write the relations between citizens and
administration.

RT T PP T F=orf o |

3. Write short notes on any four of the
following : 5x4=20
wore RS R @ sikerR Reca o3 Gt for -

(a) Merits of direct recruitment

ofOTF AR TRYPIR

() Lokpal in India since 2013
2059 T #IRS ©FSS (A Bicky

(c) The Right to Information Act and its
importance
oo TR SRPT S S TR SFY
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(6)

(d) Development administration and
Traditional administration

RIM M F T[T 2P

(e} Difference between single budget and
plural budget

GFF R0 AF 24 ICHHI TGS 2412/

4. Answer any four of the following : 10x4=40
were i R e wifRerR Seq for

(a) Discuss the composition, powers and
functions of the Union Public Service
Commission of India.

TS KA CIPCHR! SEGR A04, FIol
IR F=CE A T4 |

(b) Discuss the major principles of budget
making.

3CEH AESFIR o1 TR WA 39 |

(c) Evaluate the promotion system followed
in India.
TROS SPHCT T AENS 7S JE0Ew 3 |
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(7)

(d) Write a note on Lokayukta in Assam.
PR IR ¢oTS «fb (BTl 2™ 1 |

(e) Evaluate the contribution of Fred W.
Riggs to Development Administration.

Rep oA GF. oS, e SeRCeR
S e 9 |

(N Discuss the parliamentary control over
Public Administration.

ETRPFR  eoe  oT R Rsa
A 9 |

* % %
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POLITICAL SCIENCE
( General )

Paper : 6.2

( Select Constitutions—II )

( Non-CBCS )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed (any ten) :

1x10=10
oo faRes ot fan gweq e i (R e

weol) :

(a) The Standing Committee is described as
the little legislature of the NPC.
(Write True or False)
Porr @O Ao T T B
RuFmes o PRI W
(% 7 o o)



(2)

(p) How many Cantons are there in the
Swiss Federation?

53R JERBS RAA TRGT (B AR ?

(c) The Nationalist Party of China was also
known by the name

(Fill in the blank)
DR TORORM WoReRe NS

Tl (ot |
(TR 31 @ F)
(d) In which year did China come under the

control of Mao Zedong led Communist
Party of China?

Y oo DT Mao Zedong I (PRI
Diomm SR o et sifEe 2

(e) Who exercises residuary powers in
Switzerland?
LRERCAGS SRS T (I 2! I 2

() How many Articles are there in the
new Constitution of 1982 in China?

PR 5wy T T FRRGITS ReFics!
PR IR ?
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(3)

(g9 How many members are there in the
Council of States in Switzerland?

BRGRCAGS 0T ARTHI 700 R’ R 2

(h) The Standing Committee of the NPC of
China consists of

Brorm Tow 19-3aes TN AfRfve
(i) 100 members
Soo I} IR

(ii) 200 members
00 A7 |’

(iii) 250 members
o AT iR

(Choose the correct answer)

(% St A Tferen)

() When did Switzerland  become
a member of the United Nations?

oo LREmTEIe s TR o0 (e ?

() The Chinese Communist Revolution was
led by whom?

Do AR wcwew/Red (Y @I
tafeat 2
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(4)

(k) What is the tenure of the National
Council in Switzerland?

BRGSO~ IR R 2

()- On the eve of the Chinese Revolution,
who was heading the Government of
China?

PR Rea w1t g8 S e 1R
@ e 2

(m) What type of party system has been
working in Switzerland?

BRERCSS 437 vl I R 2

(n) Before the Constitution of 1982, how
many Constitutions China had?

Yory T TERYE WIS TR (B
Ry =R ?

fo) Who elects the members of the
Federal Council in Switzerland?

RHREAGS (T TSBA AR TR
Fifee 332

22A/917 ( Continued )



(5)

2. Answer the following questions briefly
(any five) : 2x5=10

o 2RI G Bed (R et o)

(@) Who were the two very strong
leaders of China when the Chinese
Constitution of 1982 was framed and
implemented?

SR B BTR MReE 5 o IRER
TR TGRS DACeR Gor i Rt ey
T IfRE 2

() What are the two forms of initiative in
Switzerland?

BRARCAGS 2567 A2EIRa 51 ST R 3 9

(/0 Who can amend the Chinese
Constitution and by which majority?

BrR Ry @A e IR oy
IF W RameREes 2

(d) Mention two functions of the Swiss
Federal Council.

BERCIST [EAEE ReE B I Seaw

1
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(6)

(e) Mention two unique features of the
new Constitution of China.

Ve qg1 TR [ ST WY
Ty 90

(/ Mention two devices of direct democracy
in Switzerland.

TRERCAGT 2AOTH TS o1 A Bawe 41 |

3. Write short notes on any four of the
following : 5x4=20

oo fRaaed R el SRR 691 oY Gt fora

(a) Referendum

AICSIB

(b) NPC in China
DA GO 94T-FER

(c) Swiss Federal Court
RRHREST TSIGH IO

(d) Standing Committee of the NPC
o o1-IRerd TR ARS

(e) Political Parties of Switzerland
FRERCAST THASS 7]

(N The State Council (The Chinese Cabinet)
M =Raw (GFoeis @Re)
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(7))

4. Answer the following questions : 10x4=40
woq P T f

(a) Discuss the salient features of the
Swiss Constitution.

RREREST R 244w CIFBFER e
sl |

Or / 911
Discuss the Fundamental Rights and
Duties of the Chinese citizen.

Porr TIRT i SReR W FEIIR
ST 4 |

(b) Examine the role of the Communist
Party in China.

DR AR 7o SR =i[1w1 |
Or/ 941

Examine the position of the President
of the PRC.

PR S-EORE  INER ISR
oIt YR 90 |

(c) Discuss the composition, powers and
position of the Swiss Federal
Parliament.

REREST OB AT AT, el

W A S F4T
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(8)

Or/ 9%l

Describe the salient features of the
Chinese judicial system.

Priors T TOER oqW IREPRR I
|

(d) - Give a description of the major political
parties of Switzerland.
CREETAGT A4 AT woprRd R fra o
Or/ 9R1

Discuss the methods of appointment,
powers and functions of the Chinese

Premier.

DorR Aqeal o o, wwer 9F
FRA SCA™A ] |

* % *k
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